
ExerciSe -3 H 

Practice the C.w. 

987-9 o0 
n3205-3 200 

TA01= 7600 CD 

W32193200

Show atten.ed on fiday frCiaay 
Ans Maoic 

Sadutudauy aund Suundey 1356,2518

and 3186 esfecti vely 

Rounding ofr to 
neaeesU 

100 we get 

3200 

to neaueSt 1OO we 9e 

Rounding 
ofp 

LuOO500 and 

1u00+2500-3200-7100 

Actuua Sum 43 56+2518+3436-

7o60 
Th HTO 

OO 

200 

O0 
Sum to th 
neaueSt 10 

AcTuO Sum 



AnS Num ber off Students in classes 

15ll and l| ane 2318 3183 and 29q4 

Tespect vly 

ouunding off to neanest 100 We 

get 2800,3200 2000 

100 we 

2300 t 3200 +2900 
= 3UOo 

300 
200 

Sum to the 

nearest 100 
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